

٢٥

$$a_n = f n + 1$$

$$a_{10} = f(10) + 1 = 41$$

$$\underbrace{2}_{+f} \underbrace{9}_{+f} \underbrace{12}_{+f} \underbrace{17}_{+f}$$

(٢١)

$$\underbrace{4}_{+f} \underbrace{10}_{+f} \underbrace{14}_{+f} \underbrace{18}_{+f}$$

$$\frac{n}{2} (2a_1 + (n-1)d)$$

(٢٢)

$$\frac{d}{f} ((2 \times 4) + 9 \times f) = 240$$

(٢٣)

مستمرة $\rightarrow$ $f \times 9$ $\rightarrow$ $f \times 12$ $\rightarrow$ $f \times 17$ $a_{29} = f(29) + 1 = 118$

$$a_{32} = f(32) + 1 = 130$$

$$S_n = \frac{n}{2} (a_1 + a_n)$$

$$S_6 = \frac{6}{2} (118 + 130) = 794$$

$$1 + \sqrt{3}, 2, 3 - \sqrt{3}$$

$$a_{25} - a_{23} = 2d$$

(٣)

$$2(1 - \sqrt{3}) \rightarrow 2 - 2\sqrt{3}$$

$$a_n = \frac{a^y + a^{2n}}{2} = 10 \times 10^{2n} \rightarrow a^y + a^{2n} = 4 \times 10^{2n} \rightarrow a^y = 4 \times 10^{2n} - a^{2n}$$

$$\left. \begin{array}{l} a^y = (a)^2 a^{2n} \\ a^y = a^{2n+1} \end{array} \right\} \rightarrow y = 2n+1$$

$$b_n = \frac{n+y}{2} = 2$$

(٢٤)

$$n+y = 4$$

$$y = 4 - n$$

$$\left\{ \begin{array}{l} y = 2n+1 \\ y = 4-n \end{array} \right. \rightarrow 2n+1 = 4-n \rightarrow 3n = 3 \rightarrow n = 1$$

$$1+y = 4 \rightarrow y = 3$$

$$ny = 3$$

$$\frac{2n - f + 2n}{2} = 2n - 1$$

$$2n - f + 2n = 4n - 2$$

(٢٥)

$$4n - f = 4n - 2$$

$$f = 2 \rightarrow n = \frac{1}{2}$$

(٢٦)

جائز $\rightarrow$ $\underbrace{2n-f}_{-f}, \underbrace{2n-1}_0, \underbrace{2n}_f$

$$a_n = 2n - 4$$

$$a_8 = 2 \times 8 - 4 = 12$$

$$a_n = \overbrace{2, 2, \dots}^{+2, +2} \rightarrow 2n+1 \quad \rightarrow \underbrace{2, 11, 17}_{+2, +2} \rightarrow 2n-1$$

$$b_n = \underbrace{2, 2, \dots}_{+2, +2} \rightarrow 2n-1$$

$$a_n \text{ جمله } n \rightarrow 2 \times 2 + 1 = 5 \quad b_n \text{ جمله } n \rightarrow 2 \times 3 - 1 = 5 \quad 2n-1 \leq 5$$

$$2n \leq 6 \quad n \leq 3$$

$$2, 11, 17, 23, 29, 35, 41$$

$$\begin{cases} a_1 + a_2 + a_3 = 21 \rightarrow 3a_1 + 3d = 21 \\ a_1 + a_3 + a_5 = 105 \rightarrow 3a_1 + 4d = 105 \end{cases} \rightarrow 3d = 14 \rightarrow d = \frac{14}{3}$$

$$a_1 = -21$$

$$a_3 - a_2 + a_1 \rightarrow \cancel{21} - 21 = 0 \quad \frac{0}{-21} = -\frac{1}{21}$$

$$\begin{cases} a_1 + a_2 + a_3 = 10 \rightarrow (3a_1 + 3d = 10) \\ a_4 + a_5 = 20 \rightarrow (2a_1 + 7d = 20) \end{cases} \rightarrow \begin{cases} 3a_1 + 3d = 10 \\ 2a_1 + 7d = 20 \end{cases}$$

$$10d = 50 \rightarrow d = 5 \quad a_n = 3n-1 \quad a_{10} = 3 \times 10 - 1 = 29$$

$$a_1 = 2$$

$$S_9 = 9S_3 \quad \frac{9}{3} (a_1 + a_9) = 9 \times \left(\frac{3}{3} (a_1 + a_3) \right)$$

$$3(a_1 + 14d) = 9(a_1 + 2d)$$

$$3a_1 + 42d = 9a_1 + 18d \rightarrow 11a_1 = 24d \rightarrow 2a_1 = d$$

$$\frac{a_3}{a_5} = \frac{a_1 + 2d}{a_1 + 4d} = \frac{29a_1}{13a_1} = \frac{29}{13}$$

$$a_5 - a_1 = 4d = 24 \rightarrow d = 6 \quad a_n = 6n+1 \quad a_5 = 16+6 = 22$$

$$a_1 + 3d = 22 \quad 3d = 22 - a_1$$

$$a_1 + 3d = 22 \quad 3d = 22 - a_1 \quad d = \frac{22 - a_1}{3}$$

$$a_1 + 3 \left(\frac{22 - a_1}{3} \right) = 22 \quad a_1 + 22 - a_1 = 22$$